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Pathi 0*-0-0-0
Umg V : there is a path from u to v

path is an Equivalence relation .

Reflexive Um> U ( empty path)

symmetric: Um> v ⇒ run> u
-

Transitive Uwe V n Ving w ⇒ Unsw
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Classes of equivalence under path relation → .

⇒⇒ ere
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voyage
are the connected components of the graph .

A Graph is connected if it has 1 connected

component .



Trees
-

Tree is a graph that is connected
=

and has NI cycles .
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Definition of Tree:
-

1) Connected & cycle - free

2) Connected but removing any edge disconnects it
[ minimally connected]

3) Cycle- free but adding any edge between 2

existing vertices creates a cycle .

[ maximally cyde-free ]

Tree-eyfedge.se#vertices-1L



Rooted tree : make t vertex a root .
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Spanning Tree :
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Be Greedy
urn
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if it does not

Find a sparing tree with minimum cost
.

create a cycle .

cost of tree : sum of costs of its edges.
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Traveling salesman :
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Find cycle that visits5¥01 every vertex once and

2 C

D has minimum cost .

Cost of cycle is sum of costs of its edges .

Greedy does not work !
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Degrees must be even
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